Chapter 7 Pricing Policies and Profitability Analysis

Answer 1
	Units
	Price
	Total revenue
	Marginal revenue
	Total cost
	Marginal cost
	Profit

	
	$
	$
	$
	$
	$
	$

	0
	0
	0
	0
	600
	-
	(600)

	1
	504
	504
	504
	720
	120
	(216)

	2
	471
	942
	438
	807
	84
	138

	3
	439
	1,317
	375
	864
	60
	453

	4
	407
	1,628
	311
	924
	60
	704

	5
	377
	1,885
	257
	1,005
	81
	880

	6
	346
	2,076
	191
	1,134
	129
	942

	7
	317
	2,219
	143
	1,274
	140
	945

	8
	288
	2,304
	85
	1,440
	166
	864

	9
	259
	2,331
	27
	1,674
	234
	657

	10
	232
	2,320
	(11)
	1,980
	306
	340


Answer 2
(a)

The three major factors affecting pricing decisions are:

(1)
Customers – they influence price through their effect on demand for a product or service.

(2)
Competitors – they offer alternative or substitute products or services that a customer could choose.

(3)
Costs – they affect the supply of a product or service.

Note: elaboration is required.


(6 marks)

(b)

Marginal costing income statement

	
	$
	$

	Revenues (1,000 crates at $1,000 per crate)
	
	1,000,000

	Variable costs:
	
	

	Manufacturing
	400,000
	

	Marketing
	140,000
	540,000

	Contribution margin
	
	460,000

	Fixed costs:
	
	

	Manufacturing
	200,000
	

	Marketing
	160,000
	360,000

	Operating profit
	
	100,000


Mark-up percentage: $460,000 ÷ $540,000 = 85.19% of total variable costs.


(5 marks)
(c)

Only the manufacturing cost category is relevant to considering this special order; no additional marketing costs will be incurred. The relevant manufacturing costs for the 200 crate special order are:
	
	
	$

	Variable manufacturing cost per unit
	
	

	($400 × 200 crates)
	
	80,000

	Special packaging
	
	20,000

	
	
	100,000


Any price above $500 per crate ($100,000 ÷ 200) will make a positive contribution to operating profit. Hence, based on financial considerations, RSG should accept the 200-crate special order. The reasoning based on a comparison of $550 per crate price with the $600 per crate absorption cost ignores monthly cost-volume-profit relationships. The $600 per crate absorption cost includes a $200 per crate cost component that is irrelevant to the special order. The relevant range for the fixed manufacturing costs is from 500 to 1,500 crates per month; the special order will increase production from 1,000 to 1,200 crates per month. Furthermore, the special order requires no incremental marketing costs.

(5 marks)

(d)

If the new customer is likely to remain in business, RSG should consider whether a strictly short-run focus is appropriate. For example, what is the likelihood of demand from other customers increasing over time? If RSG accepts the 200-crate special offer for more than one month, it may preclude accepting other customers at prices exceeding $550 per create. Moreover, existing customers may learn about RSG’s willingness to set a price based on variable cost plus a small contribution margin. The longer the time frame over which RSG keeps selling 200 crates of canned peaches at $550 a crate, the more likely that the existing customers will approach RSG for their own special price reductions. If the new customer wants the contract to extend over a longer time period, RSG should negotiate a higher price.

(4 marks)

Answer 3
(a)

[image: image1.emf]
(b)
According to 1 of 1,000 rule, the room rate is 1/1,000 of the total construction cost. Room rate = 297,440 / 1,000 × 1 = RMB297.44. The market rate for comparable rooms is RMB240, and this is still competitive as this is a new hotel and customers are expected to pay a premium.
(c)
In cost plus pricing, the price of a product is determined by the cost plus certain profit margin. Target costing determines the cost of a product or service according to the target price that a customer is willing to pay and it is an estimated long-run cost.
(d)
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Answer 4
(a)
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(b)
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(c)
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